(B p Sv/h 498 —R)Lk/BRE)

ﬁﬂNI O%ﬂ‘ RAEHGR

R4 125 1,8 1285258 12538 12H 54,8

/M BENFER 0.059 0.051 0.058 0.056
N2 [ESINER 0.077 0.066 0.064 0.062
INS | BINVER 0.069 0.060 0.065 0.060
M BINER 0.050 0.057 0.067 0.061
N5 T /MVERR 0.052 0.062 0.066 0.066
N6 [BEE/NFER 0.068 0.063 0.075 0.069
INT | BERINVERR 0.074 0.075 0.079 0.081
N8 |ER/INVER 0.056 0.059 0.064 0.060
N |FEHIINER 0.071 0.076 0.068 0.068
MO | [IBE/INER 0.052 0.060 0.054 0.063
M1 | B INVER 0.066 0.063 0.065 0.064
/M2 |BAdEIVERR 0.065 0.072 0.058 0.066
M3 | BRBENMNER 0.069 0.063 0.066 0.065
M4 | KEDE/ DR 0.051 0.062 0.087 0.068
INFCENNE A 0.069 0.065 0.073 0.070
M6 |BEENMNER 0.066 0.063 0.064 0.056
M7 |BRBF)IE—/INERR 0.080 0.065 0.066 0.075
M8 |BREF)IIE Z/NERR 0.073 0.073 0.074 -

M9 | KB HNERR 0.045 0.055 0.058 0.045
N0 | ZRINVERR 0.061 0.064 0.071 0.057
/\21 T’EH#/J\%# 0.071 0.069 0.070 0.071
IN22 | RZBINERS 0.065 0.070 0.069 0.070
IN23 | ILFIINERR 0.064 0.065 0.068 0.066
IN24 7B TINERR 0.069 0.069 0.069 0.069
25 [AEFINVERR 0.051 0.058 0.050 0.054
N26  |RTE H/INVERR 0.066 0.061 0.063 0.054
IN2T | FOFINERR 0.072 0.072 0.072 0.070
28 |BERIVERR 0.071 0.066 0.072 0.074
29 [HREILE —/IMVER 0.067 0.062 0.061 0.062
N30 [HREILE Z/IVER 0.074 0.074 0.068 0.073
N3 | BRAENERR 0.068 0.065 0.068 0.068
/32 [db E/heEE 0.057 0.055 0.061 0.061
N33 |BE)I/NVERR 0.071 0.069 0.070 0.073
N34 | RE/NFER 0.077 0.088 0.082 0.084
IN35 | B INVERR 0.100 0.102 0.102 0.096
i1 AEPER 0.062 0.060 0.054 0.057
F2  |[EEHER 0.079 0.077 0.078 0.070
3 [FIPER 0.068 0.075 0.076 -

b4 [FEfER 0.070 0.067 0.074 0.084
5  [teHFER 0.063 0.057 0.066 —

6 IR 0.054 0.055 0.055 0.058
F7  |FEHBER 0.064 0.061 0.090 0.089
8 [IUTFH=ER 0.059 0.065 0.051 0.062
F9 [FEFER 0.067 0.067 0.068 0.068
F10 | BREFERER 0.047 0.044 0.048 0.047
i1l [EREF)I AR 0.061 0.061 0.062 0.057
12 adb e 0.060 0.057 0.060 0.047
13 AR 0.055 0.055 0.063 0.053
14  [A]EgPa PR 0.057 0.059 0.057 0.055
15 |#kAE R 0.072 0.069 0.073 0.074
16 [db Edhzeds 0.072 0.069 0.073 0.074
h17  [EfER R LS8R EFIAR) 0.071 0.069 0.070 0.071
F18  [HEPEKR 0.060 0.063 0.064 0.063
=51 |hiIxFaiR 0.082 0.082 0.081 0.078
i |[EEPHE 0.066 0.064 0.064 0.065
%2  |[FEHPHE 0.060 0.059 0.062 0.069
3 Al #E 0.055 0.059 0.062 0.057
M4 |RESHE 0.068 0.060 0.067 0.070




